

R. S. VARMA (\*)

**On the absolute Nörlund summability factors. (\*\*)**

1. - Let  $S_n$  denote the  $n$ th partial sum of a given infinite series  $\sum a_n$ . Let  $\{p_n\}$  be a sequence of constants, real or complex and let us write

$$P_n = \sum_{\nu=0}^n p_\nu, \quad P_{-1} = p_{-1} = 0.$$

The

$$(1.1) \quad T_n = \frac{1}{P_n} \sum_{\nu=0}^n p_{n-\nu} S_\nu = \frac{1}{P_n} \sum_{\nu=0}^n P_\nu a_{n-\nu} \quad (P_n \neq 0)$$

defines the sequence  $\{T_n\}$  of Nörlund means of the sequence  $\{S_n\}$  generated by the coefficients  $\{p_n\}$  [7].

The series  $\sum a_n$  is said to be absolute summable  $(N, p_n)$  with index  $k$  or summable  $|N, p_n|_k$  ( $k > 0$ ) if

$$(1.2) \quad \sum n^{k-1} |T_{n+1} - T_n|^k < \infty,$$

when  $K = 1$ ; this definition reduces to the customary definition of absolute Nörlund summability, as given by Mears [5].

In the special case in which

$$(1.3) \quad p_n = \binom{n + \alpha - 1}{\alpha - 1} = \frac{\Gamma(n + \alpha)}{\Gamma(n + 1) \Gamma(\alpha)} \quad (\alpha > 0),$$

(\*) Indirizzo: Near Bharat Lodge Bina, Distt. Sagar (M.P.), India.

(\*\*) Ricevuto: 7-III-1972.

the Nörlund mean reduces to  $(c, \alpha)$  mean [3]. Thus the summability  $|N, p_n|$ , where  $p_n$  is defined by (1.3) is the same as  $|c, \alpha|$ . Again, when

$$(1.4) \quad p_n = \frac{1}{n+1}, \quad P_n \sim \log n \text{ as } n \rightarrow \infty,$$

the Nörlund mean reduces to the harmonic mean [9].

The conditions for the regularity of the method of summability  $(N, p_n)$  defined by (1.1) are

$$(1.5) \quad \lim_{n \rightarrow \infty} \frac{p_n}{P_n} = 0$$

and

$$(1.6) \quad \sum_{\nu=0}^n |p_\nu| = O(P_n), \quad \text{as } n \rightarrow \infty.$$

If  $p_n$  is real and non-negative, (1.6) is automatically satisfied, and then (1.5) is the necessary and sufficient condition for the regularity of the method.

2. - Let  $f(t)$  be a periodic function with period  $2\pi$  and integrable ( $L$ ) over  $(-\pi, \pi)$ . Let its Fourier series be

$$(2.1) \quad \frac{1}{2}a_0 + \sum_{n=1}^{\infty} (a_n \cos nt + p_n \sin nt) \equiv \frac{1}{2}a_0 + \sum_{n=1}^{\infty} A_n(t).$$

We write  $\varphi(t) = \{f(x+t) + f(x-t)\}/2$ .

A sequence  $\{u_n\}$  is said to be convex [11] if

$$\Delta^2 u_n \geq 0, \quad (n = 1, 2, 3, \dots),$$

where  $\Delta u_n = u_n - u_{n+1}$  and  $\Delta^2 u_n = \Delta(\Delta u_n)$ .

3. - Given a sequence  $\{\lambda_n\}$  if the series  $\sum a_n \lambda_n$  is absolutely summable in some sense, while in general  $\sum a_n$  is itself not so summable, then  $\{\lambda_n\}$  is said to be the absolute summability factor of the series  $\sum a_n$ .

Kogbetliantz has proved the following theorem [4] on summability factors for absolute Cesàro summability.

**Theorem A.** If a series  $\sum a_n$  is  $|c, \alpha|$  summable, then the series  $\sum a_n \varepsilon_n$  is summable  $|c, \beta|$  for  $\beta < \alpha$ ,  $\alpha, \beta > 0$ , if  $\varepsilon_n = 1/(n+1)^{\alpha-\beta}$ .

In 1952, Peyerimhoff [8] gave a similar proof of the above theorem.

Further in 1965 N. Kishore [6] established a similar theorem for the case of Nörlund summability when the series is summable  $|c, 1|$ . His theorem runs as given below:

**Theorem B.** If a series  $\sum a_n$  is  $|c, 1|$  summable and if  $\{p_n\}$  be a non-increasing sequence of real and nonnegative numbers, then the series  $\sum (a_n P_n)/n$  is  $|N, p_n|$  summable, where  $P_n = \sum_{\nu=0}^n p_\nu$ .

The object of this paper is to extend the above Theorem B for  $|N, p_n|_k$  summability. In fact we prove:

**Theorem.** If the series  $\sum a_n$  is  $|c, 1|_k$  summable and if  $\{p_n\}$  be a non-increasing sequence of real and nonnegative numbers, then the series  $\sum (a_n P_n)/n$  is summable  $|N, p_n|_k$  where  $P_n = \sum_{\nu=0}^n p_\nu$ .

**4. - Proof of the Theorem.** Since the case  $k=1$  of our theorem is due to N. Kishore [6]. We prove for  $k > 1$  only.

Further, since the series  $\sum a_n$  is summable  $|c, 1|_k$  ( $k \geq 1$ ), we have

$$(4.1) \quad \sum n^{-1} |\tau_n^1|^k < \infty,$$

where  $\tau_n^1$  denotes the  $n$ th Cesàro mean of order one of the sequence  $\{na_n\}$ .

Let  $T_n$  denotes the Nörlund mean of the series  $\sum (a_n P_n)/n = \sum u_n$ ; then we have to show that

$$(4.2) \quad \sum n^{k-1} |T_{n+1} - T_n|^k < \infty.$$

Now

$$T_n = \frac{1}{P_n} \sum_{\nu=1}^n p_{n-\nu} S_\nu = \frac{1}{P_n} \sum_{\nu=1}^n P_{n-\nu} u_\nu.$$

Since  $P_{-1} = 0$

$$T_{n+1} - T_n = \sum_{\nu=1}^{n+1} \left( \frac{P_{n+1-\nu}}{P_{n+1}} - \frac{P_{n-\nu}}{P_n} \right) u_\nu = \sum_{\nu=1}^{n+1} \nu a_\nu \left( \frac{P_{n+1-\nu}}{P_{n+1}} - \frac{P_{n-\nu}}{P_n} \right) \frac{P_\nu}{\nu^2}.$$

Applying Abel's transformation and denoting  $t_n = \sum_{\nu=1}^n \nu a_\nu$ ,  $t_0 = 0$  and  $\Delta \lambda_n = \lambda_n - \lambda_{n+1}$ , we have

$$\begin{aligned}
 (4.3) \quad |T_{n+1} - T_n| &= \left| \sum_{\nu=1}^n t_\nu \Delta \left\{ \left( \frac{P_{n+1-\nu}}{P_{n+1}} - \frac{P_{n-\nu}}{P_n} \right) \frac{P_\nu}{\nu^2} \right\} + P_0 \frac{t_{n+1}}{(n+1)^2} \right| \\
 &\leq \left| \sum_{\nu=1}^n t_\nu \left( \frac{P_{n+1-\nu}}{P_{n+1}} - \frac{P_{n-\nu}}{P_n} \right) \Delta \frac{P_\nu}{\nu^2} \right| + \\
 &\quad + \left| \sum_{\nu=1}^n t_\nu \frac{P_{\nu+1}}{(\nu+1)^2} \Delta \left( \frac{P_{n+1-\nu}}{P_{n+1}} - \frac{P_{n-\nu}}{P_n} \right) \right\} + \frac{P_0 |t_{n+1}|}{(n+1)^2} \\
 &\leq |L_n^{(1)}| + |L_n^{(2)}| + |L_n^{(3)}|, \quad \text{say.}
 \end{aligned}$$

By Minkowski's inequality, it is therefore sufficient to prove that

$$(4.4) \quad \sum n^{k-1} |L_n^{(1)}|^k < \infty,$$

$$(4.5) \quad \sum n^{k-1} |L_n^{(2)}|^k < \infty,$$

and

$$(4.6) \quad \sum n^{k-1} |L_n^{(3)}|^k < \infty.$$

Proof of (4.4). Since  $\{p_n\}$  is a non-negative, non-increasing sequence, it is easy to see that  $(P_{n+1-\nu}/P_{n-\nu}) \geq (P_{n+1}/P_n)$  for all  $\nu \leq n$ , and hence <sup>(1)</sup>

$$\begin{aligned}
 \sum_{n=1}^m n^{k-1} |L_n^{(1)}|^k &= \sum_{n=1}^m n^{k-1} \left\{ \left| \sum_{\nu=1}^n t_\nu \left( \frac{P_{n+1-\nu}}{P_{n+1}} - \frac{P_{n-\nu}}{P_n} \right) \Delta \frac{P_\nu}{\nu^2} \right| \right\}^k \\
 &= \sum_{n=1}^m n^{k-1} \left\{ \sum_{\nu=1}^n |t_\nu^k| \left( \frac{P_{n+1-\nu}}{P_{n+1}} - \frac{P_{n-\nu}}{P_n} \right) \Delta \left( \frac{P_\nu}{\nu^2} \right) \right\} \times \\
 &\quad \times \left\{ \left| \sum_{\nu=1}^n \left( \frac{P_{n+1-\nu}}{P_{n+1}} - \frac{P_{n-\nu}}{P_n} \right) \Delta \left( \frac{P_\nu}{\nu^2} \right) \right| \right\}^{k-1} \\
 &\leq A \sum_{n=1}^m n^{k-1} \left\{ \sum_{\nu=1}^n |t_\nu^k| \left( \frac{P_{n+1-\nu}}{P_{n+1}} - \frac{P_{n-\nu}}{P_n} \right) \Delta \left( \frac{P_\nu}{\nu^2} \right) \right\} \cdot \left\{ \frac{1}{n^2} \right\}^{k-1} \\
 &\leq A \sum_{\nu=1}^m |t_\nu^k| \Delta \left( \frac{P_\nu}{\nu^2} \right) \left| \sum_{n=\nu}^m \left( \frac{P_{n+1-\nu}}{P_{n+1}} - \frac{P_{n-\nu}}{P_n} \right) \right| \times \frac{1}{n^{k-1}}
 \end{aligned}$$

---

(1)  $A$  is a constant not necessarily the same at each occurrence.

$$\begin{aligned}
&\leq A \sum_{\nu=1}^m \frac{|t_\nu^k \Delta(P_\nu/\nu^2)|}{\nu^{k-1}} \sum_{n=\nu}^m \left( \frac{P_{n+1-\nu}}{P_{n+1}} - \frac{P_{n-\nu}}{P_n} \right) \leq A \sum_{\nu=1}^m \frac{|t_\nu^k \Delta(P_\nu/\nu^2)|}{\nu^{k-1}} \cdot \frac{P_{m+1-\nu}}{P_{m+1}} \\
&\leq A \left[ \sum_{\nu=1}^m \frac{|t_\nu^k|}{\nu^{k-1}} \left( -\frac{P_{\nu+1}}{\nu^2} + P_{\nu+1} \cdot \Delta \left( \frac{1}{\nu^2} \right) \right) \right] \\
&\leq A \left[ \sum_{\nu=1}^m \frac{p_{\nu+1} |t_\nu|^k}{\nu^{k+1}} \right] + A \left[ \sum_{\nu=1}^m \frac{P_{\nu+1} |t_\nu|^k}{\nu^{k+2}} \right].
\end{aligned}$$

Now, since  $\sum a_n$  is  $|c, 1|_k$  summable  $\sum(|t_\nu|^k/\nu^{k+1})$  is convergent; thus since  $P_{\nu+1} \leq (\nu+1)p_0$ . We have

$$\sum n^{k-1} |L_n^{(1)}|^k = O \left\{ \sum_{\nu=1}^m \frac{|t_\nu|^k}{\nu^{k+1}} \right\} + O \left\{ \sum_{\nu=1}^m \frac{|t_\nu|^k}{\nu^{k+1}} \right\},$$

$$(4.7) \quad \sum n^{k-1} |L_n^{(1)}|^k = O(1), \quad \text{as } m \rightarrow \infty.$$

Proof of (4.5).

$$\begin{aligned}
\sum_{n=1}^m n^{k-1} |L_n^{(2)}|^k &= \sum_{n=1}^m n^{k-1} \left\{ \left| \sum_{\nu=1}^n t_\nu \frac{P_{\nu+1}}{(\nu+1)^2} \left( \frac{p_{n+1-\nu}}{P_{n+1}} - \frac{p_{n-\nu}}{P_n} \right) \right|^k \right\} \\
&\leq A \sum_{n=1}^m n^{k-1} \left\{ \sum_{\nu=1}^n |t_\nu|^k \frac{P_{\nu+1}}{(\nu+1)^2} \left( \frac{p_{n+1-\nu}}{P_{n+1}} - \frac{p_{n-\nu}}{P_n} \right) \right\} \times \\
&\quad \times \left\{ \sum_{\nu=1}^n \frac{P_{\nu+1}}{(\nu+1)^2} \left( \frac{p_{n+1-\nu}}{P_{n+1}} - \frac{p_{n-\nu}}{P_n} \right) \right\}^{k-1} \\
&\leq A \sum_{n=1}^m n^{k-1} \sum_{\nu=1}^n |t_\nu|^k \frac{P_{\nu+1}}{(\nu+1)^2} \left( \frac{p_{n+1-\nu}}{P_{n+1}} - \frac{p_{n-\nu}}{P_n} \right) \times \left\{ \sum_{\nu=1}^n 1/p^2 \right\}^{k-1} \\
&\leq A \sum_{\nu=1}^m |t_\nu|^k \frac{P_{\nu+1}}{(\nu+1)^2} \sum_{n=\nu}^m \left( \frac{p_{n-\nu}}{P_n} - \frac{p_{n+1-\nu}}{P_{n+1}} \right) \\
&\leq A \sum_{\nu=1}^m \frac{|t_\nu|^k}{(\nu+1)^2} \cdot \frac{P_{\nu+1} p_0}{P_\nu} \leq A \sum_{\nu=1}^m \frac{|t_\nu|^k}{\nu^2},
\end{aligned}$$

whence as  $m \rightarrow +\infty$

$$(4.8) \quad \sum_{n=1}^m n^{k-1} |L_n^{(2)}|^k = O(1).$$

Proof of (4.6).

$$\begin{aligned} \sum_{n=1}^m n^{k-1} |L_n^{(3)}|^k &\leq A \sum n^{k-1} \left\{ \frac{|t_{n+1} P_0|}{(n+1)^2} \right\}^k \\ &\leq A \sum n^{k-1} \left\{ \frac{|t_{n+1}|}{(n+1)^2} \right\}^k \leq A \sum \frac{|t_{n+1}|^k}{(n+1)^{k+1}}, \end{aligned}$$

whence as  $m \rightarrow +\infty$

$$(4.9) \quad \sum_{n=1}^m n^{k-1} |L_n^{(3)}|^k = O(1).$$

Hence,  $\sum n^{k-1} |T_{n+1} - T_n|^k < \infty$ , which proves the theorem.

5. - It may be remarked here that if  $k = 1$  and  $P_n \sim \log n$  the following theorem of Singh [10] becomes the corollary of our theorem.

**Theorem.** *In the series  $\sum a_n$  is summable  $|c, 1|$ , then the series  $\sum a_n \log(n+1)/n$  is summable  $|N, 1/n+1|$ .*

The author expresses his grateful thanks to Dr. P. L. Sharma, for his kind suggestions.

#### References.

- [1] D. BORWEIN and F. P. CASS, *Strong Nörlund summability*, Math. Z. **103** (1968), 64-111.
- [2] T. M. FLETT, *On an extension of absolute summability and some theorems of Littlewood and Paley*, Proc. London Math. Soc. (3) **7** (1957), 113-141.
- [3] G. H. HARDY, *Divergent series*, Clarendon Press, Oxford 1948.
- [4] E. KOGBETLIANTZ, *Sur les series absolument sommable pour la méthode des moyennes arithmetiques*, Bull. Sci. Math. (2) **49** (1925), 234-251.
- [5] F. M. MEARS, *Some multiplication theorems for the Nörlund means*, Bull. Amer. Math. Soc. **41** (1935), 875-880.
- [6] N. KISHORE, *On the absolute Nörlund summability factors*, Riv. Mat. Univ. Parma (2) **6** (1965), 129-134.
- [7] N. E. NÖRLUND, *Sur une application des fonctions permutables*, Lunds Univ. Arsskr. Avd. (2) **16** (1919).

- [8] A. PEYERIMHOFF, *Über einen satz von Herrn Kogbetliantz aus der Theorie der absoluten Cesàro Schen summierle arkeit*, Arch. Math. **3** (1952), 262-265.
- [9] M. RIESZ, *Sur l'équivalence de certaines méthodes de sommation*, Proc. London Math. Soc. (2) **22** (1924), 412-419.
- [10] T. SINGH, *Absolute harmonic summability factors of infinite series*, Proc. Indian Sci. Cong. Assoc., Part III (1965).
- [11] A. ZYGMUND, *Trigonometrical series*, Warsaw 1935.

\* \* \*

